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Question Title N Mean SD Max Mark FF Attempt %

1 3417 2.9 1.3 4 72.8 99.6

2aii 3409 1.6 0.8 2 80.1 99.3

2c 3419 6.7 1.7 10 67.1 99.6

4 3264 2.6 1.5 4 64.4 95.1

5b 3421 1.3 0.6 2 63.6 99.7

5d 3372 4.2 1.6 6 70.7 98.3

6b 3368 1.5 0.7 2 75 98.1

6d 3314 1.6 0.6 2 79.3 96.6

7 3358 5.5 2.2 8 68.5 97.8
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Total

Outline the features of the following types of market:
Monopoly
Monopolistic competition

AO1: 4 marks

Award 1 mark for each valid feature of a monopoly market. (Max 2)
Award 1 mark for each valid feature of a monopolistic market. (Max 2)

Indicative content:

Monopoly: a single or dominant business within a market (could be a pure
monopoly with 100% market share or, most likely, a business with 25% or
more market share, which could be regarded as a monopoly according to
UK/EU competition authorities); barriers to entry; price makers; high
economies of scale.

Monopolistic competition: many relatively small businesses; no dominant
businesses; few barriers to entry; similar products with some differentiation;
weak brand identity; some control over prices but essentially might be price
takers and competition might be price-based.

NN











The candidate correctly outlines two features of a monopoly market: a single producer within the market and that they are
price makers. Additionally, the candidate identifies two features of monopolistic competition: a large number of small
businesses and products that are similar but can be differentiated. Full marks are awarded for this response (AO1 - 4).










The candidate identifies one correct feature of a monopoly market: the market is dominated by predominantly one business. No further credit is given for the remainder of
the monopoly market description, as referencing a large market share is similar to a dominant business and examples are not required. The candidate outlines one correct
feature of monopolistic competition: a wide range of small businesses that make up the market. No second feature is identified as creditworthy. The candidate is awarded 2
marks for this response (AO1 - 2 marks).










The candidate outlines only one correct feature of a monopoly market: only one firm dominates the
market. The candidate does not outline any valid features of monopolistic competition. The
candidate is awarded 1 mark for this response (AO1 - 1 mark).
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1.

Markets and competition
Outline the features of the following types of market:

Monopoly (2]





























































Q Total
7. Recommend whether Darren should choose a cost-plus pricing 8
strategy or a competitive pricing strategy for his bottled sauces.
Justify your decision.
Band AO1 AO2 AO3 AO4
2 marks 2 marks 2 marks 2 marks
2 2 marks 2 marks 2 marks 2 marks

Good
understanding of
pricing strategies.

Knowledge of both

Good use of data.

Information from
the case is used
well to support

Good analysis of
the impact of both
pricing strategies.

Lines of reasoning

Evaluation is good.

Recommendation
is made and is
well-justified and

pricing strategies is | argument. are clear and well- | developed.
shown. developed.

1 1 mark 1 mark 1 mark 1 mark
Limited Limited use of Limited analysis of | Evaluation is
understanding of data. the impact of limited.
pricing strategies. either/both pricing

The response is strategies. Recommendation
Knowledge of one | mainly theoretical is made but lacks
pricing strategy with some Underdeveloped depth.
shown. reference to the points are made.

context.

0 0 marks 0 marks 0 marks 0 marks
No valid No valid No valid analysis No valid evaluation
knowledge application

Indicative content:

Cost-plus pricing
Price is determined by adding a profit percentage to the average cost of producing the good

(this is called the mark-up).

It is a product-orientated / cost-based strategy; therefore, the market is ignored.
Darren’s products are likely to be next to competitor products in the independent retailers

that he sells in. The price may not be competitive.

Cost of the ingredients could be high because they are organic and therefore lead to a high
price once the mark-up is applied. However, this depends on any economies of scale
because of ordered in increased quantities from his supplier.
Ensures all costs are covered, which is important since Darren has recently faced increased
costs (part time staff at busier times and equipment upgrades). Cost increases (or indeed,
decreases) can be passed on to the customer, which could affect affordability and resulting
demand.

Competitive pricing
Price is determined by the ‘going rate’ in the market by comparison to competitors’ prices.

Prices tend to be broadly in line with competitors.

It is a market-orientated / market-based strategy; therefore, the production costs are not
directly considered and the price is set a point at which the market is willing to accept. Could
be considered an example of a price taker.






Darren offers condiments which might be considered to be in a competitive market with big
brand names (HP and Hellmann’s). Offering similar prices will be important for Darren to
compete effectively and to gain sales. But he is unlikely to mass produce at the same scale,
if at all, which could mean lower profit margins because of relatively higher costs per unit.
Does not guarantee all costs are covered and might not highlight any added value, USP or
differentiation that Darren wants to reflect i.e. using organic ingredients.

Possible themes for evaluation:

Choice of pricing strategy depends on Darren’s objectives. Case study highlights a
changing market, increased costs and meeting consumer wants. Darren must determine
how she can meet her objectives by considering these factors.

It can depend on the percentage that is added to the cost of production: too high and price
could be uncompetitive; too low then perception of quality could be affected.

Both strategies could result in a similar price from the outset, but the principle of the strategy
is different.

Market research is ideal, even with cost-plus pricing, since this is likely to guide the mark-up
chosen.

Depends on PED: market research could highlight sensitivity using each strategy. Depends
on how much the price could change by and current strategy used could increase or
decrease the price using a new strategy.

Darren can adopt one strategy and then choose another, if appropriate. But customers
might want predictability.

Credit any other valid point.





















The candidate demonstrates a clear understanding of cost-plus pricing by providing a definition. They analyse the impact of
choosing cost-plus pricing in the context of rising costs and consider competition, showing the use of the case study. The candidate
employs clear lines of reasoning and evaluation, considering how customers will respond to a higher price. The final sentence
provides further evaluation in the context of the case. In the second paragraph, the candidate demonstrates a clear understanding of
competitive pricing and provides context with organic ingredients, showing customers' preference for these products at similar
prices. The candidate develops the impact of competitive pricing. In the final paragraph, the candidate makes a clear and supported
recommendation, including a qualifying statement regarding the importance of organic ingredients to customers. The candidate
meets all the demands of the question sufficiently to be awarded all marks

AO1-2
AO2-2
AO3-2
AO4-2













Sticky Note

The candidate provides a clear definition of competitive pricing. However, the rest of the paragraph is not creditworthy, as there is no context to the case study and no valid line of reasoning follows the understanding provided. In the second paragraph, the candidate demonstrates sufficient understanding of cost-plus pricing but does not include any context or analysis. The final paragraph makes a recommendation, but the supporting reasoning provided is vague and not sufficient for AO4 credit. The candidate is awarded 3 marks





AO1-2
AO2-1
AO3-0
AO4-0













Sticky Note

The candidate demonstrates a clear understanding of competitive pricing and refers to organic ingredients for context to support their response. There is a clear line of reasoning for the impact of choosing competitive pricing. The candidate recommends competitive pricing as the chosen strategy and provides a valid reason. There is no mention of cost-plus pricing in the response or consideration of its use. The candidate is awarded 4 marks 





AO1-1

AO2-1

AO3 -1

AO4-1










Price it right

Darren started his business two years ago making and bottling sauces, such as barbeque
flavour and spicy mayonnaise. Darren only uses organic ingredients in his products as a

way of differentiating his sauces from popular brands such as HP Sauces and Hellmann’s.
Darren sells his sauces through independent food retailers and direct to customers on his own
website.

Darren has recently faced increased costs such as upgrading the equipment he uses to bottle
sauces and has employed a part-time member of staff to help in fulfilling orders at busier times
of the year. Darren has recently changed his supplier who has been able to provide him with
larger quantities of ingredients.

Darren is now reviewing his pricing strategy and has decided to use either cost-plus pricing or
competitive pricing.

Recommend whether Darren should choose a cost-plus pricing strategy or a competitive
pricing strategy for his bottled sauces. Justify your decision. [8]

Ex:




























































Q. Total
8. Evaluate the view that it is always better to control, rather than 12
empower, a workforce.
AO1 AO3 AO4
Band
4 marks 4 marks 4 marks
4 marks 4 marks 4 marks

Excellent understanding
of empowerment and
control.

Excellent analysis of
empowerment and or
control.

Evaluation is excellent and
judgements are convincing.

A well-balanced and well-

3 Clear identification of Well-reasoned and detailed evaluation.
key features and detailed chains of analysis.
characteristics. Qualifying statements may
Analysis is balanced for be used.
control and empowerment.
2-3 marks 2-3 marks 2-3 marks
Good understanding of | Good analysis of Evaluation is good.
empowerment and / or empowerment and / or
control. control. A well-reasoned and
balanced evaluation.
2 Identification of several | Good chains of reasoning
features or are evident. Clear judgement is made
characteristics. with supporting statements.
Evaluation is likely to be
balanced.
1 mark 1 mark 1 mark
Limited understanding Limited analysis of Evaluation is limited.
of empowerment and / empowerment and / or
or control. control. A judgement is made but is
1 underdeveloped and lacking
The candidate identifies | Analysis is one-sided or depth.
some characteristics. incomplete.
Evaluation is one-sided.
Underdeveloped points are
made.
0 0 marks 0 marks 0 marks

No valid knowledge.

No valid analysis.

No valid evaluation.






Indicative content:

Empowerment

Empowerment is a management practice of sharing or giving employees responsibility to
make decisions and the power to use their initiative to solve problems. Empowerment is
based on the idea that by giving employees the skills, resources, authority, opportunity,
motivation and making them accountable for the outcomes of their actions, they will
contribute more to the organisation and be more satisfied in their job.

Employees may become more motivated (Herzberg’s Motivators, McGregor's Theory Y and
Maslow’s Esteem Needs).

Empowering the workforce could lead to the following benefits: increased productivity and
efficiency due to increased motivation and commitment; higher levels of job satisfaction;
lower labour turnover; quicker decision making; lower management costs; less resistance to
change; improved quality of work through a lean production process; increased
collaboration between employees and managers.

Empowering the workforce could lead to the following problems: abuse of power; mistakes
being made by employees; lack of skills, experience or willingness to take on responsibility
to be empowered; additional training time and costs; more complex structure and unclear
lines of communication; managers may be undermined and conflict could occur.

Control

Controlling the workforce could lead to the following benefits: being told what to do is the
preference for some employees (McGregor’s Theory X); certainty is maintained in
communication, authority and hierarchy; inexperienced employees may need to be
monitored and supported more; confidentiality and traditional management functions such
as planning and budgeting are retained; management arguably have the skills and qualities
to make decisions; clearer lines of accountability; employee monitoring can lead to
increased productivity.

Controlling the workforce could lead to the following problems: some employees may feel
mistrusted and demotivated; lack of development opportunities; increase in labour turnover;
increased pressure and stress of being monitored.

Possible themes for evaluation:

It may not always be appropriate or beneficial to control the workforce.

The decision is dependent upon many circumstances and contexts i.e. experience of the
workforce, culture, nature of the job, style of management, preference of the employee.
Empowerment and control choices are likely more to be a matter of degree rather than a
dichotomy at the extremities.

All workers need to operate within certain parameters and it would not be possible to give
them total freedom of action in many circumstances. There are inevitably rules regarding
such things as attendance, quality control, treatment of customers, etc., within these limits
the empowered employee will be allowed to use his/her initiative. Even so, there is likely to
be inconsistency when workers are empowered, especially without clear regulation and,
indeed, controls in place.

Candidates are likely to include qualifying factors to provide context to support their views.
















10
AO1 -4,
AQO3 -4,
AO4 -2



Sticky Note

The candidate demonstrates their understanding of both control and empowerment with the points made throughout their response. They reference motivation theorists like Taylor and Mayo appropriately to demonstrate key characteristics of control and empowerment, including their impact on productivity, motivation, and labour turnover. The candidate presents well-reasoned and developed lines of reasoning, providing excellent analysis of the impacts of both control and empowerment. The analysis is balanced, considering positive and negative impacts. In the final paragraph, the candidate evaluates the view with some support and reasoning. However, the evaluation could have been further developed with more balance and the use of qualifying statements. The candidate is awarded 10 marks.















AO1-3
AO3 -2
AO4 -2





The candidate demonstrates their understanding of both control and empowerment with the points made throughout their response.
They reference leadership styles such as autocratic and laissez-faire, as well as Taylor's motivation theory McGregor's theory X and
theory Y, appropriately to demonstrate key characteristics of control and empowerment. However, there is no consideration of many
key features and characteristics of controlling or empowering a workforce for knowledge to be awarded in the excellent band. The
candidate presents some good, developed lines of reasoning, but this is not consistent throughout their response, and the analysis is
not balanced because positive and negative impacts of control and empowerment are not considered. In the final paragraph, the
candidate evaluates the view with some support and reasoning. However, the evaluation is not balanced and lacks qualifying
statements. Therefore, the best fit for AO4 is the bottom of Band 2.















AO1-3
AO3-2
AO4 -1



Sticky Note

The candidate demonstrates their understanding of both control and empowerment with the points made throughout their response. They reference McGregor's theory X and theory Y appropriately to demonstrate key characteristics of control and empowerment. However, there is no consideration of features and characteristics beyond these references. The candidate presents some good, developed lines of reasoning, but this is not consistent throughout their response, and the analysis is not balanced because positive and negative impacts of control and empowerment are not considered. In the final paragraph, the candidate attempts to evaluate the view, but it is merely a summary of the points made. The candidate is awarded 6 marks. 










8.

Control versus empowerment

Evaluate the view that it is always better to control, rather than empower, a workforce. [12]












































































































